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Tsi1iM Tenkasi District (IIITD
Common Second Revision Test - 2025 N

Standard 11

| - MATHEMATICS
Time Allowed: 3.00 Hours Maximum Marks: 90
I.  Choose the best: ' 20x1=20
1) fA={(X,Y)Y =sinX, XeR } and B = {(X,Y) : Y = sin X, XeR} then An B
contains ' \ :
a) can't be determined _ + _b) noelements
¢) infinitely many elements d) only one element

2) If the function f : [-3,3] = S defined by f(x) = X2 is on to, then S is
a) [0,9] b) [-9,9] )R d) [-3,3]

~ 3) The value of Iogﬁ'512 is
a)9 ~ b)16 o) 12 d) 18
4) Ng, +Nc +.os +iet 5

a) 20t b) 2" O N d) 2n

5) There are n locks and n matching keys. If all the Iocks and keys are to be
perfectly matched then the max. no. of trials is "

a) n(n-1) Dy 0 MO
6) sin(A-B) 7 sin(B-C) 4 sin(C-A) »
cosAcosB  cosBcosC cosCcosA
a)0 g b) sin A + sin B + sin C
c)cosA+cosB+cosC . d) 1
7) Which of the following is not true?
' , : 3 ' 1
a) tan® = 25 ~ b)sing = Z‘ c)isech = P d) cos® = -1
8) The co-efficient of x° in the series e is-
4 2 4 3
- W .:C) 15 43
9) The sequence 1 Lt form an
f B! M3+22
a) Harmonic progression b) Arithmetic prbgressio’n

c) Arithmetic - Geometric progression d) Geometric progression
10) The pt. lie on the locus of 3x2 + 3y? - 8x -12y +17=0

(1,2 0,-1 _d)(-2,3
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11) If oné'of the lines given by 6X2 = XY'4'4CY2 = 0 is'3X + 4Y = 0 then C equals to
1 A 3
a) 3 b) -3 <)l e
12) If A Is a square matrix, then which of the following is not symmetric
a) A - AT b) A + AT c) AAT d) ATA
3 -2 ' WU
13) IfA+] = [4 N ] then (A+I)(A-I) is equal to
-5 -4 5 A Toe ol o d)_[s .-4} 2
a){-s ~9J b)[e _9] i ['_89] o e 18 9
L i ! e kY et o e
14) If |la+b| =60, |a-b| =40 and |b| = 46 then {a| =?
a)32 o by Coac ey e o )22
15) If 3 and b include an angle 120° and their magnitudé are.2 and V3 then
56 =7 :
2) -—le b) V3 ©) -3 42
16') fim SIRX . } 3 RS 12U &
X —oo .
a) b) 1 o QY sgndpPEY
dYy
17) IfY'=eS" Xthen — = . &
) en = _ B YT '
g Tan e s
a) sin x esin x b) cos x c) cos x esnx - () g°sx
Sin VX S o« W @ S ARt i guley Sl g
18 dx'=" " 28 . ‘
) =7 : R

a)-2sinyx +C. b)2cosyX +C ) -2 cosyx +.C d) 2's'in\/§“‘-‘|~c
s TR i ,.?

19) Ten coins are tossed. The probability of getting'atleas‘t"'B héadfis

7h i 7 IR AT
DI\ T E e e L e
20)= [P o e s ey o i 3 s el LA :

sin2x ‘ R ¥ o RO SUP IR

a) Vtanx+C by flanx4C . o) TVEanX+C gy 2 franx+C
II. Answer any seven questions. Quéstion No.3b is compﬁlsory'. ; 7x2;=14

21) Resolve the rational expression

1
2 a2 into.partal fraction. )

22) Find the co-efficient of X5 | 4 o 17 {2
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35) Evaluate f W\ e

-lV.

“

23) Find the equation of the straight line, if

makes an angle of 120° with X-axis
origin is 6 units. ol the length g Sl n di clalitgam tie

1- tenA

4) tan (45° -'A) =
24) ( ) 1+tanA

!

25) Find |axb |, where 3 = 3|+4j and V 7+3+E
26) Find F" if f(x) = x cos x.

27) Find Y1001 approximately (two decirhal places),

28) Evaluate : 1im.(5"+en)%

j

29) a) The odds that the event A occurs is 5 to 7, then find P(A)
2
b) " Suppose P(B) = 5 Express the odds that the event B occurs.

4

3 41
30) Compute |A] ifA=|0 -1 2|
5--2 6

Answer any seven questlom. Quéstion No. 40 Is compulsory. 7x3=21

31) Find'the range of f(x) = ___1___
1-3cosx

32) In how many ways § boys and 4 glrls can  be seated in a Tow, so that no two .
girls are together?

Io§3 64 - i'og4 3

33) Find the value of the product
l 938 Icg4 9

3 169, 3 tégi;":
og34 log34

34) leferentaate the function w. rt x Y = x e log X.

36) Solve the equation V6 - 4x - x = x+4

37) If 0 is a parameter, find the equation of the Iocus of a movlng pomt whose
co-ordinate are x = a cos8, y = a'sin®6 ./
38) The probability of an event A occuring is 0: 5 and B occu Is 0.3, If A and B

are mutually exclusive events then the probabmty of

(i) P(AUB) (ii) P(Ar'\ B). " (hi) P( A A B)

39) S.T ax(b+c) + bx(c+a) + Ex(a+b) 7 Sk e
40) Find the value of cos 105% 1= = -1 £
Answer all the quutions. , SUL ST Lt 7x5=35
41) a) IfFA+B+C= 2 Prove that cos 2A + cos ZB + cos 2C 1 + 4 sinA sinB
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b)

42) a)

b)
43) a)
b)

44) a)

.b)

4 \
S.T the whose poifts vectors are 4i+5j+k, -j-k, 3i+9j+4k angd

~4i+4j+4k are co-planar.

By the principle of mathematical induction, Prove that forn = 1,
~1)(2qg +4.
12432452 4 ., 4 (2n- 1)2 = D4R 3)( 2. (OR)
sin"! X
IfyY = ) S.T (1 -X3)Y, - 3XY, - Y = 0,
N1-x?

. 1 "
Prove that Ix® 16 - %343 is approximately equal to = when x is
sufficiently large, (OR)

There are two identical urns containing respectively 6 black and 4 red
balls, 2 black and 2 red balls. An urn is chosen at random and a ball is

drawn from it, Find the probability that the ball is black.

2X

Resolve into partial fractions PR SR,
(x* +1)(x-1)

(OR)

: 1 35
Express the matrix A =|-6 8 3| asthe sum of a symmetric and skew-
-4 6 5 '

" symmetric matrices.

45) a)

b)

46) a)

b)

47) a)

b)

If the equation A X? - 10XY +12Y2 4+ 5X - 16Y = 3 = 0 represents a pair
of straight lines find ‘

i) The value of A and the Separate equations of the lines
it) Point of intersection of the lines

iif) Angle between the lines ‘ (OR)

Evaluate : f Pxrs

V1-4x-ax?

dx

Iff: R — Ris defined by f(x) = 2X - 3, Prove that f is a bijection and find
its inverse. . (OR)
Evaluate : j‘ﬁ— dx
X2 +4x+7
State and prove Napier‘s formula. (OR)
. sing
Prove that lim 2— =1
, 6-0, 0
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